L (Lub)
Drain
Separ
Mech
Press SW

FR.L.
FR.
F (Filtr)

Fitting stainless steel

Port size: M5, R1/8 to R1/2

Res press
exh valve

SlowStart

Union straight
ZSP-UL]

Anti-bac/Bac-
remove Filt
Film
Resist FR

Qil-ProhR

Med

Press FR
No Cu/
PTFE FRL

Qutdrs FRL

Adapter
Joiner
Press

-Refer to page: 851

Compatible tube
0D.g

4
6
8
10
12

-Refer to page: 851

Compatible tube
0D.0

4
6
8
10
12

Compatible tube
0D.0

-Refer to page: 851

Gauge
CompFRL

Union elbow
ZSP-V[]

Tee
ZSP-B[-[]

Union tee
ZSP-E[]

LgFRL
PrecsR
VacF/R
Clean FR
ElecPneuR
AirBoost
Speed Ct
Silncr

-Refer to page: 851

Compatible tube
0D.0

-Refer to page: 852

Compatible tube
0D.0

Compatble tube
0D.0

-Refer to page: 852

CheckV/
other

Different diameter union
ZSP-G[ ][]

straight

Branch tee
ZSP-D[ -]

Tripod elbow
ZSP-VX[]-[]

Nozzle
Air Unit

PrecsCompn
Electro
Press SW

ContactSW

AirSens

PresSW
Cool
Air Flo

Compatible tube
0D.0

6/4
8/6
10/8
12/10

-Refer to page: 852

Compatible tube
0D.9

4
6
8
10
12

Compatible tube
0D.0

‘Refer to page: 853

Sens/Ctrl
WaterRiSens
TotAirSys

Different diameter union tee

ZSP-EG[I-[]

Branch' Y
ZSP-X[-[]

(Total Air
TotAirSys

(Gamma)
Gas

generator
RefrDry

DesicDry
HiPolymDry

MainFiltr

Dischrg
etc

-Refer to page: 853

Compatible tube
0D.g

4
6
8
10
12

-Refer to page: 853

Compatible tube
0D.0

6/4
8/6
10/8
12/10

Compatble tube
0D.0

4
6
8
10
12

-Refer to page: 853

Ending ‘
848

CKD

- Sales unit is 10 pcs./bag.



ZS P Series

Series variation

Branch double Y
ZSP-RX[I-[]

Different diameter double Y

ZSP-RG[J-[]

Tripod union
ZSP-VU[]

‘Refer to page: 854

Compatible tube
0D.0

4
6

‘Refer to page: 854

Compatible tube
0D.0

6/4
8/6

‘Refer to page: 854

Compatible tube
0D.0

Different diameter union Y

ZSP-W[]-[]

Union A
ZSP-AUL]

Branch elbow
ZSP-AX[]-[]

-Refer to page: 854

Compatible tube
0D.9

6/4

8/6

10/8
12/10

‘Refer to page: 855

Compatble tube
0D.¢

-Refer to page: 855

Compatible tube
0D.0

Branch triple

ZSP-KD[J-[]-[]

Different diameter triple
ZSP-KG[-[]

Cap
ZSP-PF[]

-Refer to page: 855

Compatible tube
0D.s

6/4
8/4
8/6
10/8

-Refer to page: 855

Compatble tube
0D.8

6/4
8/4
8/6
10/6
10/8

-Refer to page: 856

Compatible tube
0D.g

Bulkhead union
ZSP-M[]

Reducer
ZSP-J[ -]

‘Refer to page: 856

Compatible tube
0D.0

4

6

8

10

12

-Refer to page: 856

Compatble tube
0D.9
6/4
4/6
4/8
6/8

4/10
6/10
8/10
6/12
8/12
10/12

L (Lub)
Drain

Separ
Mech

Press SW
Res press
exh valve

SlowStart
Anti-bac/Bac-
remove Filt
Film
Resist FR
Qi-ProhR

Med
Press FR
No Cu/
PTFE FRL

Qutdrs FRL

Adapter
Joiner
Press

Gauge
CompFRL

LgFRL
PrecsR
VacF/R
Clean FR
ElecPneuR
AirBoost
Speed Ct

Silncr

CheckV/
other

Nozzle
Air Unit

PrecsCompn

Electro
Press SW

ContactSW

AirSens

PresSW
Cool

Air Flo
Sens/Ctrl

WaterRiSens
TotAirSys
(Total Air)
TotAirSys

(Gamma)
Gas

generator
RefrDry

DesicDry
HiPolymDry

MainFiltr

Dischrg
etc

- Sales unit is 10 pcs./bag.

CKD 849

‘ Ending



FR.L.
F.R.

F (Filtr)
R (Reg)
L (Lub)

Drain
Separ
Mech
Press SW
Res press
exh valve

Fitting stainless steel
* - |) ZSPsen
s & Series
o N ¢ @ Port size: M5, R1/8 to 1/2
A e . 7 @ Compatible tube O.D.: g4 to @12
rs e

@ Stainless steel (SUS303 or equivalent) metal body

Perfect for use in corrosive atmospheres, or atmospheres susceptible to copper ions.
@ Diverse range of model variations

A wide range of variations for various pneumatic piping.
@ Environment-friendly products

Resist FR . . ) . .
OIPolR As a RoHS Directive compatible product, all substances which adversely affect the global environment have
s | been eliminated from the materials.
Press FR H H
v Specifications
Oudrs FRL | Wiorking fluid Air
j\d_apter Max. working pressure  MPa 1.0 (=150 psi, 10 bar)
% Negative pressure kPa -100 (=-15 psi, -1 bar)
~Gauge | Ambient temperature °C 0 (32°F) to 60 (140°F) (no freezing. *1)
CompFRL *1: Freezing may occur due to adiabatic expansion depending on the air quality (dew point).
LgFRL
PrecsR How to order * Refer to the model No. on the dimensions page (pages 851 to 856) for the model No. combination.
Clean FR o 6 O0©
ElecPneuR . . *
— @Conpate ure 00. ] @ Port size 1
AirBoost C Straight RX | Branch double Y 4 o4 M5 | M5X0.8
Speed Ctf U Union straight RG Different diameter double Y 6 26 M5S | M5 x 0.8 (Slim type)
—— L Elbow VU Tripod union 8 28 6 R1/8
Silner V| Union elbow W | Different diameter union Y 10 | 210 8 | R1/4
CtlgeckV/ B Tee AU Union A 12 212 10 R3/8
bl E | Union tee AX | Branch elbow 15 | R1/2
G Different diameter union straight KD Branch triple *1: In the case of @ compatible tube O.D., select
Nozzle D Branch tee KG Different diameter triple from the @ table.
— VX Tripod elbow PF Cap *2: Sales unit is 10 pcs./bag.
Alr Unit Y | Union Y M | Bulkhead union
PrecsCompn EG | Different diameter union tee J Reducer
Electro X Branch Y
Press SW
ConfactSW :
" Internal structure and parts list
AirSens
PresSW 6
Cool
Air Flo
Sens/Ctrl
WaterRiSens
TotAirSys
__(TotalAir) |
A [No.|Partname | Material |
Gas 1 Resin body Polybutylene terephthalate
—generalor F_’_W 2 | Metal body Stainless steel (SUS303 or equivalent)
RefrDry 3 O-ring Hydrogenated nitrile rubber
DesicDry 4 | Elastic sleeve Hydrogenated nitrile rubber
HPdlmDry 5 | Lockring Stainless steel (SUS303 or equivalent)
7 6 | Lock claw Stainless steel (SUS301)
Mng\Itr 7 | Guide ring Stainless steel (SUS303 or equivalent)
Stlcs chrg 8 Release ring Polyacetal
] 9 | Gasket Polyphenylene sulfide
Ending ‘
850 C K D Metric thread



. . CAD
Dimensions

ZS P Series

Dimensions

FR.L.

Straight

@ ZsP-CL-[]

0.3

Gasket

Metric thread

(Hexagon)

=

| @

Union Straight
@ ZsP-Ul-[]

oC1

[Sales unit is 10 pcs./bag]

2-B

Te====

|
|
idloeed

2C2

F.R.
F (Filtr)

R (Reg)
L (Lub)

Drain
Separ

Mech
Press SW

Res press
exh valve

SlowStart

| | [\
<C
| ResistFR
Model No. |35 M [ A | L | G| B [cC[H][uawtgl OlProiR
ZSP-C4-M5 Msx08| 3.2 | 20 | 16.8]14.9| 99 | 10 | 1.9 | 56 T
ZSP-C4-M5S| | |M5X08 32 | 229[19.7 149199 | 8 | 1.9 59 Press FR
ZSP-C4-6 R1/8|] 8 | 21 | 17 [149[ 99 | 10 [ 53| 75 No Cu/
ZSP-C4-8 R1/4| 11 | 21 | 15 [14.9[ 99 | 14 | 53 | 15 |PTFEFRL
ZSP-C6-M5 M5x08| 3.2 [ 221|189 17 |118| 12 | 1.9 | 8.1 Qutdrs FRL
ZSP-C6-6 ¢ [R18] 8 [226|186] 17 |18 12 [125] 83 Adapter
ZSP-C6-8 R1/4| 11 [246[185| 17 | 118 ] 14 |125] 16 Joiner
ZSP-C6-10 R3/8| 12 [236[17.2| 17 |118| 17 [125] 25 Press
ZSP-C8-6 R1/8| 8 |27.9)|239]|182|138]| 14 | 20 | 14 |Gauge
ZSP-C88 | 8 |R1/4| 11 | 266|206 |18.2|138| 14 | 20 | 14 CompFRL
ZSP-C8-10 R3/8| 12 [23.9(176[182[138| 17 | 20 | 21 LgFRL
ZSP-C10-6 R1/8| 8 [30.3]26.3[20.7]16.8] 17 [22.9] 21 |y =
2sP-c10-8 | o [R1/4| 11 [209.8[238]207 [168] 17 | 35 | 19 -“m PrecsR
ZSP-C10-10 R3/8| 12 [29.3| 23 (207|168 | 17 | 35 | 24 ZSP-U4 o
ZSP-C10-15 R1/2| 15 [30.3]221|207[168| 21 | 35 | 46 ZSP-U6 6 34.9 11.8 12.5 17 12.5 6.2 VacFIR
ZSP-C12-8 R1/4| 11 [35.9]299[233]198| 21 | 35 | 40 ZSP-U8 8 378 | 138 | 145 | 18.1 20 8.8 CleanFR
ZSP-C12-10| 12 |R3/8| 12 [31.9[256 (233|198 21 | 59 | 32 ZSP-U10 10 414 | 168 | 175 | 20.2 35 15
ZSP-C12-15 R1/2| 15 | 339|257 |23.3[19.8| 21 | 59 | 45 ZSP-U12 12 | 478 | 198 | 21 234 | 59 21 | EecPeR
Note) The G dimensions for the taper screw type are reference dimensions after tightening. AirBoost
Elbow Union Elbow Speed Ctt
@ ZSP-L[ ][] ”Efﬂ ] ©® ZSP-VL]
Silncr
i K;ﬂ ] CheckV/
F---14 L2 oL other
S — . Nozzle
Gasket f ! 5 ( "H ) Mo
Metric thread 10 N roa : : E | L DIECSCOMpF
- - - [Electo
- L:L;J%H (Hexagon) T : P:}Ztsosvv
I H,¥ [ ContactSW
| M 2N | Lonieciol
4 AirSens
IIIH-EIEIIIIM Coo
ZSP-L4-M5 Wsx08| 3.2 | 203 | 22.1 14.9 Air Flo
ZSP-L4-6 4 [R1/8 8 23243 9.9 10 14.9 18 10 4.2 10 | Sens/Ctrl
ZSP-L4-8 R1/4| 11 [263]253] 99 | 10 [149] 18|14 | 42 | 19 WaterRiSens
ZSP-L6-M5 Wsx08| 3.2 | 22 [ 251 | 11.8 [125[ 168198 | 12 [ 1.5 | 11 [TotArSys
ZSP-L6-6 o [R18| 8 |25 273|118 125|168]198] 12| 10 | 13 (Total Air)
ZSP-L6-8 R1/4| 11 [ 28 [282( 118 [ 125(168[198] 14 | 10 | 20 TotAirSys
ZSP-L6-10 R3/8| 12 [208|207] 118 [125[168]198| 17 | 10 | 32 %
ZSP-L8-6 R1/8| 8 |28 [313]138[145[181]227] 14 [165]| 17 generator
ZSP-L8-8 8 |R14| 11 [ 31 [322]138|145[181]|227| 14 [ 165 22 RefrDry
ZSP-L8-10 R3/8| 12 [328(337] 138 | 145[18.1]227]| 17 [ 165 | 34 |~
ZSP-L10-6 R1/8| 8 |33 |378(168[175]|202(22| 17 [22.4| 29 DesicDry
P T P Y7 N N X R 3 P ) R B MMM Model No.| g% ] €1 ] c2 [ B [ L | E | N | F [%ee|wt. gf [rY—
ZSP-L10-10 R3/8| 12 | 37 [394] 168 |175[202]262| 17 | 30 | 39 ZSP-V4 4 | 99| 10 |149]169| 32| 65 |104] 42 | 47 )
ZSP-L10-15 R1/2| 15 | 40 [406] 168 [ 175[202]262] 21 | 30 | 59 ZSP-V6 6 |11.8[125] 17 [201 |32 | 8 [135] 10 | 6.9 | \ainFill
ZSP-L12-8 R1/4| 11 | 38 [425[198| 21 | 234|204 ] 21| 30 | 47 ZSP-V8 8 |138] 15 [181]224]42 | 10 [156|165] 11 pyoqn0
ZSP-L12-10 | 12 |R3/8| 12 | 39 (432[ 198 21 (234|204 | 21 | 47 | 48 ZSP-V10 10 [16.8[175(202 (262 | 42 [ 12 [182] 30 | 16 o
ZSP-L12-15 R1/2| 15 | 42 [443] 198 21 [234]204]| 21 | 47 | 63 ZSP-V12 12 [ 198 21 [ 234 (294 | 42 | 14 |217] 47 —
Note) The G dimensions for the taper screw type are reference dimensions after tightening. ‘ Endmg
CKD s



ZS P Series

e , CAD
FrL | Dimensions

FR. | Tee 1 """E'I‘__ﬂ“'“ N Union tee [Sales unit is 10 pcs./bag]
F (Filtr) | ® ZSP-BLI-U] B‘;;ﬂ @ ZSP-E[]
R (Reg) LA - -- 4 - -
L (Lub) ) L3 L3
Drain b o L22_ B O L2
Separ 3 3-B
Mech <
Press SW B """": I""" T 6 6
Res press Gasket N 3 2
exh valve Fd1-r---¢ 1--11-tH1 o ™,
Metric thread O] -
S\owSar _ R 5 2F
- T IR
H (Hexagon)
Resist FR M
S\ muanmm
Press FR ZSPB4M5 M5X08 3.2 | 20.2 149 38|10 15| 9.4
~ NoCu | zSPB4-6| 4 [R1/8 8 232 24.2 9.9 10 149 16.9 38[10| 41 | 13
~ PIFEFRL| zsp-B4-8 R1/4| 11 [262[252[9.9[ 10 [149[169[338] 14 | 4.1 | 21
Ouidrs FRL | ZSP-B6-M5 M5x08]| 3.2 23 [ 263 118 | 13 [ 17 |25 [403[ 12| 15 | 15
~ Adapler ZSP-B66| . |R1/8| 8 |26 |285] 181317 [0fi[403][12] 10 | 17
Joiner | ZSP-B6-8 R1/4| 11 |29 [205| 18|13 [ 17 [at5[403] 14| 10 | 24
Press | 7sp-86-10 R3/8] 12 [308] 31 [18[13 [ 17 [wn]43]17] 10 | 36
- Gauge | Zsppge R1/8| 8 [263 298] 138 15 [18.1] 224|448 14| 16.5] 21
CompFRL | Zsp-Bs-8| 8 |[R1/a| 11 [203 308|138 | 15 | 181|224 |448] 14 | 165 26
LgFRL 75P-B8-10 R3/8 | 12 [ 311 (323|138 [ 15 [181[224 [448] 17 [ 1655 38
"9 7SP-B10-6 R1/8| 8 |33 (378|168 [175[202[252[54|17 | 30 | 36
PrecsR  zsp8t08| - [R1/4] 1136 [s67[168 175 [202 26204 17| 30 | 38 -EEMMEM
| ZSP-B10-10 R3/8| 12 | 37 [ 304 (168 [175]202]252[504[ 17 | 30 | 46 ZSP-E4 104|149 | 172 | 344 172
VacFIR | Zspg107s R1/2| 15 | 40 | 406|168 [ 175 202] 252 (504 | 21| 30 | 65 ZSP-E6 6 11.5 13 | 17 | 205 | 401 3.2 8 16 201 13.5 12.5 11
CleanFR | ZSP-B12:8 R1/4 | 11 | 38 [425(198 | 21 [229]284 (56821 | 30 | 56 zsP-E8| 8 [138] 15 [181]22[44[32] 9 [18]22[156] 20 | 15
| zsPB1210] 12 |R3/8 |12 [ 39 [432[198] 21 |229]284|568] 21| 47 | 58 zSP-E10| 10 [168(175] 202252504 42| 12 | 24 [252]182| 35 | 24
ElecPneR | ZspB1215 R1/2| 15 | 42 |443[198 [ 21 |229] 284 [568| 21| 47 | 73 ZSP-E12| 12 [198] 21 | 229|284 568 |4.2| 14 | 28 |282]217] 59 | 34
AirBoost Note) The G dimensions for the taper screw type are reference dimensions after tightening.
speedCy Different diameter union straight Branch tee ~NC TN
-~ @ ZSP-G[-[ ® zSP-DLI-[] Y
Silncr g LI
CheckV/ |Sasat o
other i E
Fit/Tube L - - | —
B1 B2 o|© -1 o L 1] 2-9C2
Nozzle o & TR
E— T O e, SO 1
_ AirUnit] Aside O b S 8| Bside L] - : Q
PrecsCompn R ¢ | D1 B Gasket 5° i
Electro < . N
Press SW Metric thread O I&\
CortactSW 7\H (Hexagon)
AirSens » M
ool ModelNo.[ 385 | M | A [L1]G1]G2]c1[c2] B [L2] H [frzewt. of
Air Flo ZSP-D4-M5 M5x08| 3.2 [37.1339] 17 [ 9.9 10 | 149|169 10| 1.9 | 9.4
__ Sens/Ctl | ZSP-D4-6| 4 |R1/8| 8 [40.1(36.1(192]9.9] 10 [149]169]| 10| 53 | 13
WaterRiSens ZSP-D4-8 R1/4| 11 [431]371]202]9.9] 10 [149]169] 14| 53 | 21
oSS | ZSP-D6-M5 M5x08] 3.2 [432] 40 [ 198 | 18| 13 | 17 [201] 12] 1.9 | 15
Total Air ZSP-D6-6 R1/8| 8 [462[422]22 18] 13|17 |201]12]125] 17
TotAirSys z5p068| © [Ru/a| 11 [482 |41 23 [ 18] 13| 17 |21 | 14 | 125 24
A&?ﬂ ZSP-D6-10 R3/8| 12 | 51 |46 245[ 18| 13|17 [201] 17| 125] 35
generator ZSP-D8-6 R1/8| 8 [504 (464 [242[138]15[181]222[14] 20 | 21
RefiDry ZSP-D8-8| 8 |R1/4| 11 534|474 |252(138] 15 [181]|222] 14| 20 | 27
Bttt ZSP-D8-10 R3/8| 12 [552 489267 (138 15 [181[222] 17| 20 | 38
DesicDry ZSP-D10-6 R1/8| 8 [582[5¢2]29 [168]175]202]252] 17| 35 | 36
- xSei'('isna\ zspD108| | [R1/4] 11 [612]552] 30 [ 168 [175] 202 [252] 17 | 35 | 38
T areamn Z8P-D10-10 R3/8| 12 | 622|559 | 307 | 168 | 175|202 |252| 17 | 35 | 46
MainFilir | ZSP-G6-4 6 4 34.4 125 149| 53| 6 Z5P-D10-15 R1/2| 15 [652| 57 [318[168[175]202]252]| 21| 35 | 65
~ Dischrg| Z8P-G86 8 | 6 [37.9 13.8 11.8 145 18.1 17 | 125/ 83 ZSP-D12-8 R1/4 | 11 [ 666|606 [322[198] 21 [229]282] 21| 35 | 57
etc ZSP-G10-8 | 10 | 8 [41.1|16.8|138|175|202|18.1| 20 | 14 ZSPD12-10] 12 [R3/8| 12 676613329 (198 | 21 [229[282| 21| 59 | 58
7 7SP-G12-10] 12 | 10 [476[19.8[16.8| 21 [234[202]| 35 | 20 Z5P-D12-15 R1/2| 15 [706 | 624 | 34 [198] 21 [ 229]282] 21| 59 | 72
n mg‘

Note) The G1 and G2 dimensions for the taper screw type are reference dimensions after tightening.

852 CKD



ZS P Series

Dimensions
. . o
Dimensions FRL.
Tripod elbow — Union Y [Sales unit is 10 pcs./bag] | F.R.
@ zSP-VX[-[J awiamnli ® Z5P-Y[ FFit)
L] = S
T [ N
= ﬂ EZ-Q)CZ A2 A ) (R(Reg)
o L L (Lub)
hir I P — .8 Drain
S, I — P ﬁeghar
Gasket flanh Wi T Pros S
< _ kﬂ-- i & o —— |Respress
Metric thread > i i i i i i exh valve
o " B s Pl SlowStar
i G e M
I I H (Hexagon) - F ¢
- oo NATEA 2B =lls
L = — et
— — OilProfR
IIIEIEIIEIIIIEIIIHM — &= W
ZSPVX4M5 M5x08] 32| 217 235 19 23 | 1 3-0C1 Press FR
ZSPVx46| 4 [R1/8 8 u7| 57 9,9 10 149 16,9 10 3.2 6.5 10 4 | 14 No Cu/
ZSP-VX4-8 R1/4 |11 |27{%7] 99| 10 [19[169]14[32]65| 10| 35 | 23 | PTFEFRL
ZSPIX6-M5 M5x08]3.2| 53| 4| 18] 125] 17 |w1]12]42] 8 [125] 2.3 | 17 Qutdrs FRL
zsPxX66| . [R1/8 | 8 [#3|06[1s|ws] i [ar]12[42] 6 [05] 85 | 18 Adapter
ZSP-VX6-8 R1/4 | 1 |33[315[ 18| 125] 7 [w1]14[42| 8 [25] 8 | 26 Joiner
ZSP-VX6-10 R3/8 |12 [31] 3 [ns|n2s] 7 [n1]17[42] 8 [125] 84 | 39 Press
ZSP-VX8-6 R1/8 | 8 [304[37 (18] 45[181]21]14[42]10 15[ 17.1| 24 |Gauge
75PVxe8| 8 R4 | 1 | 34| 46| 18| 15| 61| 21|14 [42[ 10 [15| 17.5] 30 CompFRL
ZSP-VX8-10 R3/8 | 12 [ 32|31 |18 ] 45| 181]21[17[42] 10 [us][17.4 | 42 LgFRL
ZSP-VX106 R1/8 | 8 |%2] # [168] 15[ n2|w2]17[42[ 1215 17.4 | 38 |2
zspvxios) - [R1/a | 11 2] w8 s 8 [ma|ma[17 4212 5[ 51.5 | 44 -Enﬂmﬂm PrecsR
ZSP-VX10-10 R3/8 | 12 [ 302|416 (168|175 02| %2(17 [42] 12 |175] 28.1 | 52 zsp Y4 P—
Z8P-VX10-15 R1/2 | 15 [42[ 48[ 168] 175 22| %2[21 [42] 12 |175] 24.3 | 74 ZSP-Y6 6 37.7 11.8 13 12.5 17 12 3.4 15.8 13.5 10 10 VacFIR
ZSP-VX12-8 R1/4 | 11 |#2[467]108] 21 [B4]24]21[42]14| 2 [409 ]| 64 zsP-Y8| 8 [424]138] 15 [145]181] 14 [3.4 [17.2[1541]165] 15 (leanFR
25p-vx12-0] 12 [R3/8 |12 | 42| 464|198 o | 24|24 2142 14| | 45 | 65 ZSP-Y10| 10 |484[168|175[175]|207| 18 |42 [195[182[ 27 | 25 |
ZSP-VX12-15 R1/2 [ 15 [s2] a5 | 198] o1 [m4]ma]21]42] 14 2 [448] 81 ZSPY12| 12 | 548|198 | 21 | 21 | 234 | 20 | 4.2 | 222 |217| 38 | 35 | ClePnel
Note) The G dimensions for the taper screw type are reference dimensions after tightening. AirBoost
Different diameter Union tee Branch'Y Speed Ct
@ ZSP-EG[-[] @ ZsP-X[-[] P .
2-5C1 Silncr
oo CheckV/
T S S A — — other
L =) e [
& 2 ) T
- L2 -© ! ,:,\i i 2-0F2 11| Nozzle
2-Q1 Compatible 3 251 TN EACTICR
tube O.D. ; 3 . O oF LI' A\riJmt
(L -1 - Gasket PrecsCompn
f ! % 7} } Electro
_--____9 e ;\__]L i & : I Metric thread A\ H (Hexagon) : Press SW
- 1 T T T T N | \‘”
S por M | vg = oF e M [ | ContactsV
T < AirSens
oC4 Q2 Compatible IIIHIEIIEEEIIII}IHM Cool
2C2 tube O.D. ZSPX4M5 k08| 3.2 | 376 | 344 149 141 104 9.9 | AirFlo
N2 ZSP-X4-6| 4 [R1/8 8 406 | 366 9.9 10 149 11 3.2 144 10 104 4.2 13 | Sens/Clrl
ZSP-X4-8 R4 11 [436(376| 09 | 10 [149] 11 [32]1a1] 14 [104] 42 | 21 WserRiSers
ZSP-X6-M5 08 3.2 [414] 382 | 18 [125| 17 [12[34[168] 12 [135] 15 | 15  Tomisys
ZSP-X6-6| . |R18| 8 |44 404|118 15| 17 |12]34[156]12185] 10 | 17 (Tolal Ar)
ZSP-X6-8 Ria| 11 [ara {3 ne 25| 17 [12]3.4]158] 14 [135] 10 | 24  TotAirSys
ZSP-X6-10 R38| 12 | 492 {428 | 18] 125] 17 [ 12]3.4]158] 17 [135] 10 | 36 %
ZSP-X8-6 RUB| 8 |467[447]138| 145|181 14 [34[172] 14 [161[165] 22 | generator
zSP-x8-8| 8 [Rwa| 11 |517[457 138|145 [181] 14 [3.4]1m2] 14 [151]165] 27 RefiDry
ZSP-X8-10 R38| 12 | 535|472 | 138] 145[181] 14 [3.4[172[ 17 [151]165] 39 | 1
ZSP-X10-6 R1/8| 8 |553[513[t68] 18 [207]18[4.5]195[17 | 18 | 30 [ 38 | DesicDry
TubeODo ZSP-X10-8 Ri4| 11 [563[523[168] 18 [207]18[45(195[17 [ 18] 30 |40 |~
HHIIHMMIHE zspxio10] 'O [Rae[ 12 [503] 5 [168] 16 |207] 18|45 15 17| 8 | 30 | 48 10
ZSP-EG6-4 6 4 118 195 | 135 ZSP-X10-15 R1i2] 15 [623 541|168 | 18 [207] 18 |4.5[195(21| 18 [ 30 | 67 \jainFiltr
ZsP-EG-6| 8 | 6 | 138 11.3 14‘5 12‘5 13‘ 17 22‘2 44‘4 3.2 9 18 23154 9.5 14 ZSP-X12-8 Ri4] 1 635575198 | 21 [84]20]42]22]21] 21 | 37 [ 59 500
Z5P£G108] 10 | 8 [ 168|138 | 175|145 |22 | 181] 252|504 [42] 1224 |u9|182]185] 23 7sP-x12-10] 12 [R38| 12 [ 645|582 [198] 2t [234]| 2042|2221 21 | 37 | 61 | o
25PE612-10] 12 [ 10 [ 198 [ 168 | 21 | 175|234 | 2] 284 [568|4.2] 14 [ 28] 28 |217[ 295 | 34 Z8P-X12-15 Rir2| 15 [675]593 ] 108 | 21 [234[20]42]| 22|21 ] 21 | a7 D
Note) The G dimensions for the taper screw type are reference dimensions after tightening. ‘ Endmg
CKD 853



ZS P Series

FR.L.

Dimensions

FR.
F (Filtr)

R (Reg)
L (Lub)

Drain

Separ
Mech
Press SW
Res press
exh valve

S\owS fart

Resist FR
Qil-PronR

Med
Press FR
No Cu/
PTFE FRL

Qutdrs FRL

Adapter
Joiner
Press

Gauge
CompFRL

LgFRL
PrecsR
VacF/R
Clean FR
ElecPneuR
AirBoost
Speed Ct

Silncr

CheckV/
other

Nozzle
Air Unit
PrecsCompn

Electro
Press SW

Branch double Y
@ ZSP-RX[I-[]
P1

P2

Y

4902 %

H (Hexagon

T 5 2 0 2 3 s
20

ZSPRX46 457|417 105 | 149 05
Z8P-RX4-8 4 R1/4 11 487|421 9.9 105) 149 10 10 14 3.2 14‘2 205 1.4 27

Different diameter double Y [Sales unit is 10 pcs./bag]

@ ZSP-RGLI-[]
P1

N

NI

{,

lﬁ\\

w 2-Q2 Compatible tube O.D.
4-2C2

N
4-pC4 @

=iy

B1

#C1 Q1 Compatible tube O.D.

areamm*
1.5] 13

ZSP-RG6-4 6 4 35| 18 1251105 103 142

ZSP-RX6-6] 6 |R1/8] 8 | 503 (463 [18]13[17]13]13|14[3.2[158]|26] 9 | 27

ZSPRG8-6] 8 | 6 |42 [138 11.8 145113 18.1 17 12.5 125 3.5 158 26 8.2 20

Note) The G dimensions are reference dimensions after tightening.

Tripod union
@ ZSP-VU[]

3-8C1 >N

3-0C2

ContactSW

AirSens

PresSW
Cool

Air Flo
Sens/Ctrl
WaterRiSens
TotAirSys

Total Air
TotAirSys

(Gamma)
Gas

generator
RefrDry

DesicDry
HiPolymDry

MainFiltr

Dischrg
etc

Ending ‘

854

L3

A LT

EEIII-M
ZSP VU4
ZSP-VUB 6

11.8 12.5 17 20.5 20.5 20.5 4.2 8 12.5 8.3 9.8

Different diameter Union Y
@ ZSP-W[-[]

2-gC2
2-Q2 Compatible tube O.D.

s

-B2

o 2-9C4 &

|
1
|
|
|
!
=

FF----1-11
Lboo=adls

FF----1-
Y IR A

LT

a oE [

A _ —===

oC3

B1

2C1 Q1 Compatible tube O.D.

Eff
areamml
4.2 |97

ZSP-W6-4 6 372 125 149 152 | 135

ZSP-VU8| 8 |13.8 (145|181 |22.7(227|227(4.2| 10 |145| 16 | 15

ZSP-VU10| 10 |16.8 [17.5|20.2|26.2|262|26.2 (4.2 | 12 |175]| 302 | 24

4
ZSP-W8-6| 8 | 6 |425 13.8 11AB 145 125 18.1 17 14 3.4 173151 8 13
ZSP-W10-8) 10 | 8 |48.1 (168|138 |175(145]202[181]|18 [4.5(192| 182|159 | 20

ZSP-VU12| 12 | 19.8 | 21 [ 234|294 (294|294 (4.2 | 14 | 21 | 40.2 | 34

Z8P-W1240f 12 | 10 [ 546 | 198 | 168 | 21 | 17.5[ 234|202 | 20 [4.5| 22 [ 21.7] 26.7 | 30

CKD



ZS P Series

Dimensions
, , CAD [—
Dimensions FR.L.
Union A Branch elbow [Sales unit is 10 pcs./bag] | F.R.
@ ZSP-AU[] @ ZSP-AX[-[] F (Filt)
b S
2-6C1 R (Reg)
3-2C1
== —t—r ——r L (Lub)
——T— —— E-:— 2-9C2 | z| [ @ Drain
SE=s e H (Hexagon) N Y LA L) | Separ
S SN N S I M F EE == () = Mech
L] e S0 = -*Fﬁ‘ }fct PressSW__
9 PR /=N e [ = 7 TH > oF Res press
== I F EE] Gasket 0.3 =J~H <L ) exh valve
(M7 1____ ] A G A SlowStart
fan 1 X e oo
a\\ V% u _____ :
oE o, Metric thread
L1 Resist FR
Qi-ProhR
Model No/| 338, HIEIIEEII}IEIIIEM T
ZSP-AX4-M5 8| 3.2| 21.7[235| 9 14911 |27]10]3.2[142 Press FR
ZSP-AXa6| 4 [R1/8 8 247|257 9.9 10 149 11 07 10 3.2 142 10 2.7 14 No Cu/
ZSP-AX4-8 R1/4| 11 |27.7]267]9.9] 10 [149[ 11|27 14 [3.2[142[ 10| 25 | 22 | PTFEFRL
ZSP-AX6:M5 k08| 3.2| 25 [28.1[ 11.8]125] 17 [12[262| 12 [4.2[155]125] 2.2 | 16 | QuidrsFRL
ZSPAXGS| . RYE| 8 |28303[118]125] 17 |12]%62|12]42[165]126] 6.9 | 18 Agapier
ZSP-AX6-8 R1/4[ 11 [31[312|118[125] 17 [12[262] 14 |4.2[155[125] 6.6 | 25 | Joiner
ZSP-AX6-10 R3/8| 12 [328]327|118[125] 17 [12|262] 17 |4.2[155]125| 6.8 | 37 | Press
ZSP-AX8-6 R1B| 8 | 31|%43]136| 15| 18.| 14 |294] 14 |4.2| 169 45| 146 23 | —2U9°
75P-Axa8| 8 [Ria| 11|34 [352]138]145]18.1] 14 [204[ 14 [4.2[169]145[ 145 | 29 | CompFRL
ZSP-AX8-10 RY/8| 1256|367 138|145|16.1] 14 |294] 17 4.2| 169|145 15 | 40 | o
_ ZSP-AX10-6 R18| 8 |34 |38 166|175|202| 18 |335] 17 |4.2| 85| 75| 21.6| 40 O -
Model No. | g8 | L1]C1[c2[ B | P [L2] E | N | F [:5=|wt. o ITOVTE) NN T N vl R R i P K K K 3 S K ) P e
ZSP-AU4 4 |169] 99| 10 [149|103|227|3.2|142|104| 25| 7.8 Z5P-AX10-10 R3/8| 12 | 38 |404[168[175(202( 18 335]| 17 [4.2|185(175(27.2| 49 [
ZSP-AU6 6 |[198[ 118|125 17 [125|262|4.2(155]|135] 7.2 | 11 75P-AX10-15 R112| 15 | 41 [416]168|175|202| 18| 35| 21 |4.2| 85| 175| 29.9] 69 /AR
ZSP-AU8 8 |227|138|145(181|145[204]4.2(169[156]16.3| 16 ZSP-AX12-8 Ri/4] 11 [41.2[457[198] 21 [234]20]362|214.2[204[21[38.2| 62 (lean FR
ZSP-AU10 | 10 | 25 |16.8]17.5[202|175(335|4.2|185(182|27.9| 26 Z5P-AX1210) 12 [R3/8| 12 [422]464[198| 21 |234[20(352| 21 [4.2|204[21[43.1| 63 —
ZSP-AU12 | 12 [204[198] 21 [234] 21 [352[4.2]204 217 40 | 37 7SP-AX12-15 R12| 15 [45.2[475[198] 21 [234] 20 [352[21 [4.2[204[ 21 [42.1] 78 | EkcPrenR
Note) The G dimensions for the taper screw type are reference dimensions after tightening. AirBoost
Branch triple Different diameter triple Speed Ct
@ ZSP-KD[J-[I-[] @ ZSP-KG[]-[] Sli
ilncr
F { = F f' ‘%11 CheckV/
(OXOXO) XL,
IEHELN Z{ijliniin JIEEEN /it
® w M N1 L Nozzle
8 « 3-C2 ° : I
5 N;z 3-Q2 Compatible tube O.D. M 3-Q2 Compatible tube O.D. | Ajr Unit
—Q —
/ H (Hexagon) ) e e P PrecsCompn
2-Q1 Compatible 2-gE n rum | ~
2-0E e Nl ]3-0C4 @ Electro
Q1 Compatible Y 5.5ca N tube O.. \:\,: b (D o 3 Press SW
T T T T T : 1 T [ T 1 T m —
tube O.D. "\- vl .L7‘;§ X Yy - NI S e e e 24 il | I % ContactSW
- RN RN 2w T g : :
. N N B S= g 55 G o] q i i )
5 i Z o ([ N h AirSens
S S I — | o [PresSW
2-B1 P2 P1 Q Cool
B1 P2 P1 A L2 & Air Flo
G2 G1 Sens/Ctrl
P WaterRiSens
ubeOD oS
FrEEnEnOEEEE
ZSP-KG6-4 6 4 60.1 | 3005 | 18.4 11.8 TotAirSys
ZSP-KD6-4-6 6 4 R1/8 68.4 | 18.4 | 34.3 | 30.1 11.8 ZSP-KG8-6 | 8 | 6 [69.4) 347 [213]| 12 | 12 |138 | 11.8] 15 cepenier
ZSP-KD8-4-8] 8 | 4 [R1/4 11 737|192 (365 | 31.2 10 10 138 9.9 ZSP-KG10-6] 10 | 6 | 80 | 40 [238| 14 | 14 |[168|118[175 .0
ZSP-kD8-6-8]| 8 | 6 [R1/4| 11 |807|213| 40 [347] 12| 12 | 138|118  ZSP-KG10-8] 10 | 8 | 80 | 40 [23.7] 14 | 14 [ 168 138 175 Y
75P-kD10-8-10] 10 | 8 [R3/8] 12 | 93 |237[46.7[ 40 | 14 | 14 | 168 [ 138 i
- Model No.| C4 | B1 N1 | N2 | E | 2F [roio . o
: area mm’ .
Xesectional PolvmNry
Model No.[C3 [C4 [B1[B2|N1|[N2| E | H | F jorcie WP 79P-KG64 | 10 | 17 | 149 34 1 8 133 ] 13 | 5 15 | HiPoymDy
ZSP-KD6-4-6] 13 | 10 | 17 |[149| 34 | 8 | 33| 12| 13| 5 | 22 ZSPKG8-4 | 10 [ 181|149 | 34 | 92 [ 33 | 15 | 6 19 | MainFiltr
ZSP-KD8-4-8] 15 | 10 [18.1[149| 34 [ 92|33 | 14 | 15 [ 5.2 | 31 ZSP-KG86 | 13 | 181 | 17 [402| 9 [33 | 16 [ 104 ] 22 (o,
zsP-kD8-6-8] 15 | 13 181 17 |402| 9 | 33| 14 | 15 |96 | 34 ZSP-KG10-6] 15 [ 207 | 17 [462 | 105] 33 [175] 112 [ 30 o
75P-kD10-8-10] 175 | 15 | 207|181 ] 46.2]105] 3.3 | 17 [17.5[19.1] 55 ZSP-KG10-8] 15 [ 20.7 | 181 [ 46.2 | 105 | 3.3 | 175 | 19.1 —
Note) The G1 dimensions are reference dimensions after tightening. ‘ Endmg
CKD s



ZS P Series

- . AD
rFr.L Dimensions

FR. | Cap Bulkhead union [Sales unit is 10 pcs./bag]
F (Filtr) @ ZSP-PF[] @ ZSP-M[]

R (Reg)
L (Lub)
~ Drain | L1
Separ
Mech L2 L3
Press SW 2C1

Res press
exh valve

SlowStart J T

2-H (Hexagon)

remove F\ : :
Film - gC2 I I
1 1

B
2-gC1

Resist FR

Oil-ProhR o

Med
Press FR
No Cu/
PTFE FRL

Qutdrs FRL

Adapter
Joiner
Press

Gauge
CompFRL

LgFRL

PrecsR --z-m Model No ube 0D g P LI L3 [L2ICHLC2LB LH LT (st

ZSP-PF4 ZSP-M4 M12X1 308|104 10.8 | 14.9
VacFiR ZSP-PF6 6 18.5 11.8 12.5 17 3.1 ZSP-M6 6 M4x1] 349 | 11 18 11.8 125] 17 17
(CleanFR | ZSP-PF8 8 19.9 13.8 14.5 18.4 4.4 ZSP-M8 8 M6X1| 37.4 | 14.3 | 16.8 | 13.8 | 146 | 182 | 19

——— ZSP-PF10 10 223 16.8 17.5 20.7 7.3 ZSP-M10 10 M2OX1| 424 | 12.7 | 23 | 16.8 | 18.6|20.7 | 24
EecPneiR | ZSp-PF12 12 24.9 19.8 21 22.9 11 ZSP-M12 12 M2X1| 47.6 [ 12.3 | 29 | 19.8 | 204 | 233 | 27

S
N/

12.5 24
20 | 30
35 | 56
71 81

oloa|d|d

AirBoost

Speed | Reducer
-~ @ZzZspPuLl-1
Silncr
CheckV/
other 2C1

FitTube
Nozzle —
Air Unit
PrecsCompn
Electro Lo
Press SW
ContactSW

AirSens

PresSW

|
% Connection fitting side

Sens/Ctrl
ViaterRSens
TotAirSys
Total Air

TotAirSys Tube Port
éBaasmma Model No. 5|ze¢ L1 L2 | C1 | C2 ;ee:ma

generator ZSP-J4-6
RefrDry ZSP-J6-4

Y Zspls4
DesicDry | ZSP-J8-6
| ZSP-J104
- Py Zspyr0s
MainFiy - 2SP-J10-8
 Dischrg | ZSP-12%6
e ZSP-J12-8
ZSP-J12-10

Compatible tube

L2

oC2

L1

6 37.7 15.2 9.9 10 14.9 5 2.9
8 40.2 | 16.7 | 99 | 125|149 | 45 | 3.8
8 408 | 173 | 11.8 [ 125 | 17 [ 115 4
10 [ 422|172 ] 99 | 125|149 | 45 | 43
10 | 438 [ 188 | 11.8 [ 125 | 17 | 115 | 45
10 | 43.7 | 18.7 | 13.8 [ 145 | 181 | 225 | 5.8
12 | 488 [ 198 | 11.8 [ 145 | 17 | 10.5 6
12 | 49.7 | 20.7 | 13.8 | 145 | 181 | 23 6.7
12 50 21 | 16.8 [ 17.5 [ 20.2 | 31.5 | 9.6

OO0 |O|D| O

N
o

Ending ‘

856 CKD





